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QUESTION 1

The Process Centralization pattern is a part of which compound pattern? 

A. Enterprise Service Bus 

B. Orchestration 

C. Federated Endpoint layer 

D. Official Endpoint layer 

Correct Answer: B 

 

QUESTION 2

If a service consumer program needs to get data from a service that is not available, it can poll the service by
periodically issuing a request message. This type of interaction can be inefficient because it can lead to unnecessary
message transmissions. Which of the following statements describes a solution to this problem? 

A. By applying the Messaging Metadata pattern, the service consumer can write a request identifier in the message
header. Service agents then intercept the request messages and do not forward those that contain a previously
detected identifier. This practice eliminates the delivery of the duplicate messages to the service. 

B. The Event-Driven Messaging pattern can be applied to establish a messaging framework in which service consumers
are automatically notified of relevant runtime service events. 

C. By applying the Atomic Service Transaction pattern, a service can be designed to invoke an alternative exception
handling process when it is unavailable to receive a given message. 

D. None ofthesestatements describe solutions that directly solve this problem. 

Correct Answer: B 

 

QUESTION 3

Protocol bridging features are a common part of enterprise service bus products and can be provided through the use of
adapters. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

A service composition architecture with the following requirements needs to be created: 

S90.08 Practice Test | S90.08 Exam Questions | S90.08 Braindumps                                2 / 3

https://www.pass4itsure.com/s90-08.html
https://www.pass4itsure.com/s90-08.html
https://www.pass4itsure.com/s90-08.html


https://www.pass4itsure.com/s90-08.html
2024 Latest pass4itsure S90.08 PDF and VCE dumps Download

1.

 Services will have different periods of availability. 

2.

 Sometimes the destination of a message cannot be determined until runtime. 

3.

 All the services do not support the same messaging protocol. Of the following choices, which patterns should be used
to address these requirements? 

A. Event-Driven Messaging, Intermediate Routing, Atomic Service Transaction 

B. Protocol Bridging, Compensating Service Transaction, Asynchronous Queuing 

C. Intermediate Routing, Data Format Transformation, Asynchronous Queuing 

D. Protocol Bridging, Intermediate Routing, Asynchronous Queuing 

Correct Answer: D 

 

QUESTION 5

A service fa?ade component can be used to abstract the part of a service architecture that has negative coupling
potential. 

A. True 

B. False 

Correct Answer: A 
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